Nombre y apellidos: Curso de matematicas:

Fecha:

Repaso Sistemas de Ecuaciones

7x—3y+z=-11 x+y+3z=2
a. x—y—z=-1 f. {2x+3y+4z=1
2x+2y—z=8 —2x—y—8z=-7
2x—y—z=2 Jrx+y+2=x+1
b. x—2y+3z=5 9- 2y — v =5
y_
x+y—2z=1
y—x=1
C. x—2y—z=3
2x—y =20 5
; log(x*+y)—log(x —2y)=1
- X+l — poy+1
x+z=3
d. 12x —y+4z=8
x+y—z=2 ] log2x+3120g2y:5
]. l0g2x7=3
x+z=3
e. 2x—y+4z=8
21 +3V =5
x+y—z=1 k. {2x+2_3y+1=7

Sol.a)x=0,y=3,z=-2; b)x =3,y =2,z=2; c) No tiene solucion;
d)No tiene solucién;e)x =3 — A,y =—-2+21,z=1;
fx=5=-5Ly==-34+20z=1 g)x,=2,y,=-1,x,=3,y,=1;

7 9
Mx=2,y=3; Dx; =3y, =1x, = —E,yz =_Z; Hx=4y=2k)x=2,y=1
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